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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.

weeA-gfEasr €Y smar R vd ST N 1 udend fRdr o w
HIST T T T Tl &1 (31, a1 o RBedr ar 3ieh)

Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

39 AGA/AW & g AT §l AW wF N AR weT AN v o
aier geaT Bl

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

HIT TF “dehfoudh’ Yo & ¢ F@% ol 37 40 § oar &mr 2y,
“eATFTRS" YR ¢ 3T gqF FoT 37 60 T

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.

Ul TF & 3%, 56 T-OF F WY & TS MUANR FR-GRAH
W, 3% T v et & IgER & I I= ¥ oswer @ &
IAR-GIEAHT 3 AT TF & I agt F S =g

PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.

#ET T & OIT 3feds gaw der v uver ReiRa & g B
#Er @ 7 SI-ORAE, 6T UF A SaqiRede S e &
weaTd & el qnfy, efRa e g § g e v g e
arel gt T v o SR-gfEae e w1 v & qid a1,
HIT & T SRR o TR E

Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.

wemeff, sufRufaBer w grawr fFv Rar swEr e
s-qRRa®, leas Ft @Y fen, e g | el Fwar g
T ) F W), el # 3w AlggaAw § ey 9fta =
e o)

Candidate cannot leave the examination halllroom without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.

TeT-gieasHr F1 Fieet & fder Aeet % Teaa @ 3 & § Tee
3rflear I ST X FF g & & B ge-gitas ucdw
Tfee & |qor 3

After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.

e afg Redy weor # F1§ AR / Rwafa o Sl &, & 39 e A7 eh wERor & A g |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.

9 doh 3IT9Y &gl of ST a9 doh TReA-JIEART o el |
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / 91T Uh
(Answer all the questions) / (W4l T%H & IR <)

1. URA® Y & SR & g fdbed 1 3y M0 F |
Ug FI SUYE fdbed g SR S [feriaa
el & AR USF UF & I Sucel HAY Y
“ITHIR" IR T H Tof BN |
Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein. (1x10)

1.1 AT RId & & i AT AFedR T P18 &l
3ilssiere I8 # 377are Al §.2

CERSIETSEY

3FSo

1S ot sig

Which of the following software translates
source code into object code?

Compiler

Interpreter

Assembler
None

Sozz

2 Aefaf@a & & &l a1 v oy dedsr 7 Fr ag

—_

oTel 87
A) main
B) endl
C) float
D) switch
Which one of the following is not a keyword in
C language?
A) main
B) endl
C) float
D) switch
1.3 ZaTds e HIEdT $H1 ygar Hi:
A) \n'
B) ¢
C) "12'
D) P
Identify the invalid character constant:
A) \n'
B) ¢
C) "12'
D) P
1|Page

ROUGH WORK SPACE:

Sozz

—_

5

Sozz

Sozz

Sozz

Sozz

SHHA AR 12 & AT TS5 A FIAT g2
1100
1010
1001
1110

What is the binary number equivalent of the
decimal number 12?

1100

1010

1001

1110

TFNHT A<B&&C||D>A & 3idaad 3ivwat &
Hodichet ol o freifia & :

&&, ||, <, >

<, > &&, ||

> < &&, ||

&&,<, >, ||

Determine the order of evaluation of operations
within the expression A<B&&C||D>A

&&, ||, <, >

<, > &&, ||

> < &&, ||

&&,<, >, ||

A U & 3ced printf AT Rl ax
Tfdsiarge ol SIsf?
x=1;
while(x=0)
printf("hello");
1
0
infinite
2
How many times the printf statement within the
while loop will be executed?
x=1;
while(x=0)
printf("hello");
1
0
infinite
2
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1.7 ¥ I W @RI SeRe foRam Irn 3m3eqe
AT Y
#include <stdio.h.
void main()

printf("Bre\nak");

}

Break

Bre\nak

Break

IS N

Find the output generated by the given
program.

#include <stdio.h.

void main()

Sozz

printf("Bre\nak");
}
Break
Bre\nak
Break
None

19T # T ieT AT IR-TR ST ST dTell hfe]
TR 8?2

switch

while

do while

for

Which of the following is not an iterative
statement?

switch

while

do while

for

39 TR Fod 1 gga F TaE @y &
3TIRET T 3TN AT AT ST HheT.

register

static

extern

auto

Identify the storage class with which & operator
cannot be used.

register

static

extern

auto

zdfis feFerras & ugaT o
int &p;

int *p[10];

int **p;

int *p[ ];

Identify the invalid declaration:
int &p;

int *p[10];

int **p;

int *p[ ];
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Sozz

N
oo

Sozz

Sozz

goT:  ZomE 2

—_
~ ~— ~— ~ ~— ~— ~ ~— ~—

gOoOwm>» TOW>:

21

22

23
24

25

26

2.7

2.8

29
2.10

21

22
23

24

25

26

2.7

2.8

29

2.10

QT U RS faaRr O @ W A1 R 2
Ug FI SUYAT fdbed g SR S Freferi
[Cel & STIR USF UF & W1 SUcel HY Y

“ITTHRIR TR 55 § Tof B | (1x10)
Hifotohel 3iTINEY & ST 3N TFEUHAT T gHLT
Hogiehe! foraT ST &.

exit() BT stdio.h 83T WIS 3 TUEE fomam arm
g

for( ; i<2; i++); el HUTSEIHsT T &1 ST,
fordl UY &l 38T X THT, W & IRHATOT &l
JUTT ST T AT Tg .

GBI FHITAT & AT dEAIdE FAIGs TINT
R ama .

fordl aRAaer &l Telldd T & oy wfea
TS FATH ohT IYANST T AT &.

W AT ‘Pl 915 doF’ AT GarT e T o
SRIT ST §.

W TIFSrHeT & Ugel HAN 3Tafed aitel &
o giarme A digedt Nigeet 1 wAeT fosam Srar
g

i  Hefl Teed 3T YR o gl =M.
strlen() TheReeT TTHTTOIT hichell ol BIFH Th
Hsiﬁe%wﬁﬁuﬁmm%

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer

sheet supplied with the question paper,
following instructions therein. (1x10)

The expressions on the both sides of a logical
operator are always evaluated.

exit() function is defined in stdio.h header file.
for( ; i<2; i++); statement will result in
compilation error.

At the time of initialization of an array,
dimension of the array need not to be
specified.

Actual parameters are used at the time of
function calling.

static storage class is used to make a variable
global.

Array is passed to a function using 'call by
value' method.

Pointers are used in a program to allocate
memory before the program execution.

All the members of a union should be of same
type.

The function strlen() computes the length of an
argument string excluding the null character.
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3. @feMm X ¥ QU MU wsl &R At a1 A afem Y 7 Ry v faeaw w&la st / wwl /
Al W B | ST QU T A FT U S §Y AU [IFed Y UH & W QY Y

“IMTHIR” SR T H <o B | (1x10)
X Y
3.1 |Symbol = A CheFHeT 3 |17 AT foRT ST &
3.2 [void B. U I AT ol & T,
3.3 |char *c[10]; C. a%ﬁaaaﬁﬁaﬁmﬁawa?ﬁﬁ
3.4 |calloc() D. oY, SoT 10 &7 WL & 18T Tcder Tolleie hiare & Tl Ueh Uigex 2.
3.5 |char (*c)[10] E. conio.h
3.6 |break F. TN Foll e
3.7 | return G. Y T WEeR &, S TS 10 F T Y GRAT I W@ L.
3.8 |exten H. Toh Farde] e off Reet s1gt .
3.9 | clrscr() I ﬁﬁusﬁga;ﬁaaﬁ'qia
3.10 |=fer ate TheT J. AT 3T
K. stdio.h
L. HART 3Mafed Har g 3R 38 Aerarg
M. | cherret & 3ftoraTien ATTES! & 3edclel deg e .
4 R RT MY yRE qe H A D TS G W UE UK AT q BT @lell W W N | T
IR faded T &R I Frfeiiad oreel @ SFfaR W U3 & FRF U Y “3UHaR” IR
TAG H AT fadmed ot By | (1x10)
A | vaETE B. ctype.h C TSYRIET
D. |ar E. 3TfS structured F. IR
G. | ternary H. getch() I GG
J. | W Array K. | ®wamfgoto L 3ifer
M. | fA2ar 15 Psuedocode
4.1 TR TF FY o Al ez 7 yRafda swar .
42  |YA AW (2:) Th 3T R,
43 oA e & ol ol BT AT foha ST &,
4.4 T ot wraer Ay & T o sif<ier o Tordr fama ST &
45 SoTYC hebdleT el {5 GoTYC SUTOT A FERICT e el 3.
4.6 3cYesT 3T 218V &.
47  FFO isdigit) T IRSTNT 0 ZREESAFAISE.
48 el &7 3 dichel ARATT &l TR Folr g g
49 14 % 4 3MEYT g
410 CEHEORSTICTBUMAGR &
3|Page M3-R4-01-17
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 Symbol '=' A. used with function
3.2 Void B. To terminate a loop
3.3 char *c[10]; C. To declare global variable
34 | calloc() D. c is array of size 10 where each element is a pointer to character
3.5 char (*c)[10] E. conio.h
3.6 Break F. storage class
3.7 Return G. c is a pointer pointing to string of size 10
3.8 Extern H. A function does not return anything
3.9 clrscr() L. an equality operator in C
3.10 | call by reference J. assignment operator
K. stdio.h
L. Allocates memory and clears it
M. to get updated values of formal parameters of the function
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.

Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with

the question paper, following instructions therein. (1x10)
A. Flowchart B. ctype.h C. typecast
D. Two E. structured F. four
G. Ternary H. getch() l. three
J. Array K. goto L. Auto
M. Psuedocode
4.1 operator converts an expression to a specified type.
4.2 The conditional operator (?:) is a operator.

4.3 Tool is used for program design.

4.4 statement is used for unconditional branching in C.

4.5 Input function does not show the character read from the input device.
4.6 is a derived data type.

4.7 Function isdigit() is defined in header file.

4.8 By default, storage class of local variables is

4.9 The output of 14 % 4 is

410 The size of long integer data type is

4|Page
ROUGH WORK SPACE:

M3-R4-01-17



91T <1 / PART TWO

($% IR Y BT TR %f)/(Answer any FOUR questions)

x' W HEYE A & Tl ¢ F fnpow() THeFde
ford, STel x Falle § 3R y SCIoR §. ol Rofee
YT M 3R X, y T 3FAHT o TG & olaTT.
Hergel famat()ferd ST matrix, m, n &l 3{323351?5
% BT H oIl &, STal m ufdd 3iR n FieeT & arT
matrix &T size mXn & WFET H matrix &
3ifrpaw 3R Fg=aR Tieie Reot g a3,
Matrix & Tfoldie SEToR YR & &.
AR T 3T3CYE AT N
char p[] = "%d\n";

p[1] ="c’

printf(p, 65);

int k=40, *a;

a=&k;

(‘ajt+; ks

printf(*\n k=%d” k);
Write a function fnpow() in C to compute x’
where x is float and y is integer. Function will
return the result and takes x, y as arguments
Write a function fnmat() which takes matrix, m,
n as arguments where matrix is of size mXn
with m as rows and n as columns. Function
should return the maximum and minimum
elements of the matrix. Elements of matrix are
of integer type.
Find the output of the following:
char p[] = "%d\n";

p[1] ="c’

printf(p, 65);

int k=40, *a;

a=&Kk;

(‘ajt+; ks

printf(*\n k=%d” k);

(5+6+4)

Teh FHol BIgel 1 GH- T FeT BISel & AT Si15al
fo FATg oSt AEE F1 T TS g Th
grarme ford.

S US o 1od TLHeH & dd Toh AfAARE
3R v BRAFEARE o,

Uk NI session 3T info 1 ARAaer T gANT
YT TRl §. ARATA session el el deg
(AT, NI, Safalan) of Wehell §. dRAdA
info ST JATT FXA T, TR 30 FHATRET &

S|Page
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empname 31 empid &Y =11 YTce AT ATEAT
g. U afAae session 3R info & T gATer
e STt aTel 3UYFT ST TISY T A1 Tl 3R
Write a program using command line
parameters to append one text file to another
text file.

Write down one similarity and one dissimilarity
between break and continue statements.

A programmer wants to use two variables
session and info. Variable session can take
three values (morning, afternoon, evening)
only. Using variable info, the programmer
wants to access information empname and
empid of 30 employees. Name the appropriate
data type used for each variable session and

info and declare the variables.
(8+2+5)

fo& & 8GR & array a[10][10] & S8l YA®
SR 4 913¢ oaT €. I array a &1 97 T3
4000 §, Ig A §2)' fo array @I row-major
order & TR foraT 1T &, a[4][5] FT TH AT
.

Teh HSd @S (fp) &t Yhis TFaX (say R) &
IFT H @A & T, STgl (his T AR
e 3R IfAas & T 3R ad. Fgae &
i A I 1 v FUFAT & SATH &2 Tcdh

& oI Uk 3ETEI0T S,

Given array a[10][10] of integer where each
integer takes 4 bytes. Given the base address
of array a as 4000, find address of a[4][5]
assuming array is stored as row-major order.
Write a file statement to place a file pointer (fp)
at the beginning of the record number (say R),
where record size is B bytes.
Differentiate between struct and union. When
is union preferred over struct? Give one
example for each.

(5+3+7)

fofeh-fele b1 TaaT Y g3 S8R T T IR
FeT o ol Uk Ui ford 31X 38 ugiard &Y.
Fepl 1 2 3R U fRd T &) e A
e HFYE el & g Hol 1 [Fufd
TIST FY.
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Write a program to create a stack of integers

using link-list and display it.

What is macro? Define a macro to compute

maximum of two arguments passed to it.
(10+5)

oot & frg IR FaS
i) THEC TS 3R a5 st
i) feen 3R THECH TR Frd
AP hardet &1 3iteaifdea ford.
void f1(char s[], char c)
{inti,;

for(i=j=0; s[i] !="\0’; i++)

if (s[i]!=c) s[j++]=s[i];

s[j1="\07;

return;
}
A Praf@d ferererl & 312 Tuee &1 :
i) int *p(char *a[])
ii) int *p(char *a, char *b)
iii) int (*p) (char *a)[] (++)
Explain differences between:
i) Text file and binary file
ii) static and extern storage class
Write down the objective of following function:
void f1(char s[], char c)
{inti,;

for(i=j=0; s[i] !="\0’; i++)

if (s[i]!=c) s[j++]=s[i];

s[j1="\07;

return;
}
Explain the meaning of following declarations:
i) int *p(char *a[])
ii) int *p(char *a, char *b)
iii) int (*p) (char *a)[] (++)

(5+4+6)
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